2015 A HUR L[]

fO)=+x-+1&T2&
X<0D&E f(X)=—X—-X+1+1=-2x+2 0=x<1D&L & f(X)=x—x+1+1=2
1=xD&E f(X)=x+x-1+1=2x

Q27251 y=px+q & y=Ff(X) I, LTREEFONDL, q<2TH D,

y
0=g<2D L ) A )= 2x
y=px+ QAL 2 #EH L X, HXip=2-q Th5. Y=
y=px+q & y="Ff(x) ERRERFZRVEMT . 2=p<2-q

2
q<0D & = ,
y=px+q&y="Ff(x) ERBEFFLRWEMFIL . 2=p=2 0/
y=px+q&y=x? —xIREEFODT

X2 —x=px+q x> —(p+1)x—q=00EHMH L2,

D=(p+1)?+49=0 .'.qz—%(pﬁtl)2

PLEIZED

0=q<20tx-2=p,q<-p+2 —O g<0DE&E-2=p=2 —©@ qZ—%(p+1)2 —®

CRBEERTS L, AEOEY, q

BSBIT RO E T, 1(=2, 2), (2, 0) I FE E720, ~ 1

THFE I

12 2
4+2+Zj_2(p+1) dp

3 2
:6+1 M :6+l(9+lj:§ ...... (Q‘g)
sl 3 |, al"3)7 3



